Exam 1-050

3. Fortheseproblemsyou are askedto providefigures.The figure shouldclearly indicate
which of dx or dy playsthe role of thicknessof the infinitesimalobject(cross-sectiomr
shell).Exampleof suchfiguresarefoundon pp.441-443451-453f thetext.

4. Completehesquare.

5. SeeCC10.
Exam 1-080

2. Completeghesquareandusetheformulagivenin theexam.
3. Seecommentn problem3 of exam1-050,above.

Exam 1-100

1. Off-hand,theexpansiorhasthreeterms,notonly two. Oneis zeroby reasorof symmetry
(theintegrands anevenfunctionof x). Assumingthe presencef only two termswithout
explanations not consideredh satisfactorysolution.

4. Eachof thesesolidsis asolid of revolution,wherey andy + 2 arethedistancen eachcase
from the point (X, y) to the axisof revolution.Whatis the equationof eachaxis?As for
illustrating,sinceyou areaskedto describeandsketch seethe commenton problem3 of
exam1-050.

5. SeeCC6b.

6. ThecorrectstartisW = (dW wheredW = distancelldF, dF = 62.5dV, dV beingthe
infinitesimalvolumeof across-sectionf thicknesglz. Thecross-sectiois madeof points
which travel an equaldistancePartof your solutionis to relatez (plot the z-axisandits
origin)to thegivencooérdinates, y (in thiscasezisrelatedtoy only).

Exam 2-050
1. cognm) =7

2.b) When performinga trigonometricsubstitution,the solutionis not completeunlessyou
specifytheintervalof thearc6.SeeCC?9.

3. Thesurfaces obtainedby rotatinghalf of thecurve,correspondingithertoy > 0ory < 0
.Onsuchanarc,y = y(x) butalsox = x(y) . You maychoosehento integratewrt x, or wrt
y. Seeproblem12 of quiz.

5.
(&) Thefunctionx — 1/(1 + X) is continuousNotethatthis sequencatayspositive,as
troubleoccursif somea = -1.
(b) Eachdigit doesnotexceedine,andthereis a comparisorprinciplefor series.
Exam 2-080

1. If youmadethecorrectchoicein part(a) (seeStewartp.697),thenby lettingr = 1, there
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holdsa, > b, for nlargeenough.and(b) follows by comparison(c) follows in turn by
comparinghegivenserieswith theharmonicseriesandusing

L-»OO&SX-»OO

In(x)
3.b) Seecommenion previousexam.
5.b) Squeeze¢heorem.
6. Refertothefigurewe usedto establisithevalidity of theintegraltest.
Exam 2-100
2.b) XX +2>x°.

4.a) Factorone-half.



